EANRAROREEHRT — 2 N—XBISY —F 20218878 (1) 3@EFESH

mg“ UTE A-—7> $S5FR2k (ERE) (35 RIFE ESEE e
[A&4] 1 7 :16,000,000 § 2 7% :6,400,000 3 7% :4,000,000 4 7% :2,400,000 5 7% :1,600,000 M
& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
. . — e M. FL— . . FEE= Py
1 2 NILY sy KT SK— 42 54_07 A 1.(2_2).0 3-3 335|929 | 2 (4_620) %*ég&ﬁ (E#)
R VIWN=F7—F B:xF+TFvL FrAFy bT7—LA
. $ o2 | SEEXA 1:22.0 2-2 33.7] 926 | 1 434 | REFRE ()
2|7\ 7|FLA My 7E-F 54.0 (7E) (4) | B EvILyET7—L
LVIWWN=RF7—h~ B:Zo/L—>F14 b EvJiLy RT77—L4L
S 4 2 | BERAB 1:22.2 1-1 34.1| 89.4 | 3 482 | ERF— (BR)
3011 gﬁ/j’fj__l/ 5[;1.0 (1 1/4) (+4) IA?KEE
LIE773%47 B:2H/3I2—-F+v> BREH#E S/ 77— L4
— . REN : — MMEILTE ()
4 6| Fhxo i 2 Ll 1.(253).1 5-6 34.3]80.3| 6 <4+162) 2&1&%
L:hHL>TIvokel Bih—Y—TILAR = RE
- os = o2 | JIHEBESE 1:23.2 5-4 34.4| 791 | 4 480 | EHEE (EH)
5|/5|5|=>/bLNT 54.0 (7€) (-g) | BHIET
LA XFR=—2 B:714%x%7T1)-X wFEHE
B — . o2 | EPR 1:24.2 7-7 35.0| 68.3 | 5 516 | HZIUER (=)
6lglg|l K/ T1Ly b 54.0 ®) (- |HiHEEE
RTIPIVATLR B:AYOaYIaY LA I 45 77— L
N N BEHEXtT : - [GlEES YV MES]
7 4| L RTULEZ it 2 54_0% 1(/31;)2 3-4 35.6| 67.1 | 7 ;1_244) ey
L:7—IVRI—Z B:AL/NILF o
i 2 2 | WEE 1:25.2 8-8 35.6| 58.3 | 8 486 | MALLRHE (3E)
8 3| 7Ly hTI=T7 e 54.0 ®) (-6) &) N7y
R:IAY>T75yv1 BixME—bIoay F 1
@ 71 L
) 46.0-33.9
NA>Z4 L | 12.8-11.3-11.9-12.1-11.8-11.1-11.0
® I —F—@EBIERL
1T=7r=
230—F—
Fol=5r= 1,7(2,4) (5,6)-8-3
40—+ — 1,7,2(5,4)-6,8-3
[ N3
BB 2 360M 714K 2-7 140H B E 2-7 340M JEHE 1-2-7
8 B 2 110 1-2 180M B H 2-7 800M B 2-7-1 1,810
7 1104 1-7 150
1 110

ARICOVWTRDTEEERROODE. TR LIV,




